S S
TR CHE AU (LB BBHE /L)
el ErARl B2 (9l & 2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl &+ 04 il b o HRs2
Ch ot 586,219 643,492 A57,273
CHAB AP (LU BB/ LBHE) 439,001 459,795 £20,794
charpd e 139,031 159,825 £20,794
A2 9,768 41,050 ~31,282
201 YEr2gy| 9,768 10,780 A1,012
02 222l 9,768 10,780 A1,012
ozl 4,268
—EHUR(ARA)
1,270 * BAI2F * 1202 * 3CH 3,658
—HEHE(3A)
1,702 * BAIZH » 302 * 2rH 610
GEEESEEIT 1,500,002 * 1A 1,500
ORI 4,000
— S 8(2622205) 2,000,008 * 1CH 2,000
—ABES(96X5817) 2,000,008 * 1CH 2,000
CREE R 4,922 4,790 132
101 @1214| 1,832 1,750 82
YEIESTEES=TPS 1,832 1,750 82
OBt ol 36,6402 * 12 * 50 1,832
206 T 2 bl 1,550 1,500 50
01 T 24l 1,550 1,500 50
08 atLY 2 1,190
—3ee 1,86020 * 100 ¢ 86
—38 1,6902 * 150 ¢ 254
— S 2,5002 * 300 ¢ 750
osFE2 MU 29
5,002 * 3% * 43 60
ONEEE +718 L7y
L0002 * 5& * 128 300
307 212+0| & 1,540 1,540 0
01 ABYUPEY] 1,540 1,540 0
o#2x 25| 15,0002 * 3% * 128 540
OBAAMLT =2 bl 500,002 * 27 1,000
2os 222 33,120 28,090 5,030
201 YBr2gy| 33,120 28,090 5,030
02 B2 33,120 28,090 5,030
OHOE HIIQ2 6,008 * 3605 * 128 25,920
OHOE 4218l 50,0008 * 3605 * 40/100 7,200
2ETAS A 20,531 15,205 5,326
101 Q1248 13,009 12,425 584
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S A
I CHAUD AIQA(LU BT /YHH)
ol Cratet e CHo|: & 2

_ _ SN E N
N Z3 . CA(ZAH) - MPAY - BES A oK @EQ =2
10 #ALAHI 243 3,420 3,420 0
OXNGgdgols s 2ATFALAX S
5,0008 * 579 = 128 3,420
2 FOIHAAIY 299,970 299,970 0
AR FOBEHAAY 299,970 299,970 0
401 A& HIZ 2T 299,970 299,970 0
01 Al & H 297,000 297,000 0
OARD FOIEAAY 297,000
— Al 297,000,000 * 14l 297,000
03 Al& 201l 2,970 2,970 0
OARD FOIEAAIY AL
297,000,000 * 14! * 1/100 2,970
HYSHHHI(SHAH) (JIEHDIE 147,218 183,697 36,479
oleE 29y 48,856 89,613 A40,757
ole 29| 48,856 89,613 N40,757
101 Q1 244] 48,856 89,613 N40,757
01 22 48,856 45,100 3,756
OAlIZte 2244
8,078 * 14% = 36AI2t » 12& 48,856
|23 98,362 94,084 4,278
J2& 98,362 94,084 4,278
201 Lt A 37,632 35,254 2,378
01 At 22l 27,224 26,034 1,190
O=SAEX 2L 13,0008 * 148t~ « 12 2,184
OE201AlHl 5,0002 * 34! » 14 » 12& 2,520
Oger4g 100,000 * 12¢ 1,200
OARS TSNP 50,0002 * 122 600
Ogalsg 13,300
—=3 30,0002 * 1% * 250 7,500
—x 50,0002 * 1 = 116 5,800
OARZ H4H| 6,580
—2A| 22 500,000 * 1CH 500
—Zalf %2 100,0002 * 4CH = 50/100 200
—=2A| EY 200,000 * 53 * 1CH 1,000
—TRIE(SH™)EH  200,0008 * 53 * 4CH 4,000
—pc4-2l 100,000 * 14CH * 20/100 280
—J|EtEHI %2l 50,0002 * 12& 600
OJIEt AR EEHI 5,0008 * 14 » 12€ 840
02 s329l 10,408 9,220 1,188
O2MYgs 2ER3 150,0008 * 12€ 1,800
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SN S
o WESAA| (AR (I IIE
S EPIEET (29l @8
_ _ _ N E
SN EB -GS - MBAY - BES 0 & 24 o HRE2
ORMYEE 9,002 * 10} * 128 108
OB FAFIIRS 550,0008 * 128 6,600
ONHIZEN #1232 50,0008 * 122 600
OFIIQHEY 448 100,0002! * 23l 200
ONGH+ZASE 50,0002 * 122 600
SEEP L 100,000 * 23] 200
OFsE 34 448
150,000 * 204 * 13l 300
202 01| 45,920 45,920 0
SENTE 3,920 3,920 0
Ostgle =3 2ot
70,0008 * 142 * 42 3,920
02 8 %4 O Hi 42,000 42,000 0
OSIH® FU0Hl  250,000% * 142 * 128 42,000
203 YR F & H| 10, 160 10, 160 0
01|22 Y YR FE b 6,600 6,600 0
O JIBSYYPEIH 6,600,008 » 1 6,600
02 HRAIIISRF Y| 560 560 0
OFAIIMYRE Y 40,0008 * 143 560
04 RASYYRETH| 3,000 3,000 0
SLVEEEESSE] 250,0002 * 128 3,000
204 X @4 H| 2,400 2,400 0
NEEEEERSET 2,400 2,400 0
SEEERERSBY] 2,400
—oim 50,0008 * 1% « 128 1,800
—=oy 50,0008 * 1% 128 600
405 &+ S| 2,250 350 1,900
01 R LS EH St 2,250 350 1,900
OZA ¥28 9% 7Y 150,008 * 157} 2,250
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